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MHIBT A2, B EFITE

MRIEHAREFRY: METTVT(Sy)

V(S:) <« V(S + a(Gt - V(St))

V(Sy) <« V(Sy) + a(Rt+1 + YV (Se+1) — V(St))

ETVEREL, WMANSEFRITEI?

m(s) = argmax z Pea (s"V (s")

s'es

BT
ETQREL, WMENEIFEIFHITEI?

n(s) = arg max Q(s,a)

@ KEs, HITENEa
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SARSA

O I TFI3RREHUTRIEN (NS-20F-2=R-75-501F) o
R&s, PATa0Ea
WENZIER B

R T RTSs’

WSs', PUTEIE

O SARSAEFIRS-THEERES
Q(s,a) « Q(s,a) + a(r +yQ(s’,a’) — Q(s,a))



{{EFISARSARITEZ SRt

Starting Q
(s, T

REETE(E: SARSA Q(s,a) « Q(s,a) + a(r +yQ(s',a’) — Q(s,a))
RIS €-greedySREEHUH



SARSAR %

Sarsa: An on-policy TD control algorithm

Initialize Q(s,a),Vs € §,a € A(s), arbitrarily, and Q(terminal-state,-) = 0
Repeat (for each episode):
Initialize S
Choose A from S using policy derived from Q (e.g., e-greedy)
Repeat (for each step of episode):
Take action A, observe R, S’
Choose A’ from S’ using policy derived from @ (e.g., e-greedy)
Q(S, A) — Q(S, A) + o [R+Q(S", A') — Q(S, A)]
S« S8 A A

until S is terminal

xR FED =S (on-policy TD control) ER=REIZEEEHIT0E
i, BN, SARSAEZFRIFAS "A" BRI IEERY



SARSAfI: Windy Gridworld
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SARSAfI: Windy Gridworld
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QF3

O ZXRE-oHERE Q(s, a) € R, FEZEMURE
O —MEERES ( ) FIEE

REGERE, —RRREENRE, u(ls,) e R

T \
Q(St, at) — z th(St; at) ,Qp ~ ‘U(St) Ej]1/EE|:|E—_II a A
t=0

/

REIRE, R(sy,ar) ER

ERTV: Q(se ar) = R(sp, ar) + vQ(Sp41, Are1)
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B RIEF

T ARE%RIEFS

O BirRES n(als) BATEREGEE (V(s)8Q7(s,a))

O '?j_-yg%ﬂlg ,Ll(CllS) q&%ﬁ&?& {51: aq,12,52,4y, ..., ST}N.u

At A[EREZRIEF S

O EEERZR (exploration) FOFIA (exploitation)
O BT A KB E MR F I 5k

O ERIRREBRTERNER

O BERRERBIFIRMARE

O BE— RN FEIZSNRES

O ESIFMSRIFARETEI—MIF

- Collective Noise Contrastive Estimation for Policy Transfer Learning. AAAI 2016



QF3

TRBEMRE (FHA?)

TRIBIT /O SRRSIEIRENE ar~u(: |se)

TRIE B TR RS LEEE a1~ (- |Se)
BE#RQ* (st ar) = 1 + ¥Q(Sea1, Afs1)

S0 (s¢, ap) BMELAEIT B RRES-SEE

Q(se,ar) <« Q(s, ap) + a(rt+1 + ¥Q(St+1, ary1) — Q(St, at))

SREGTHIZNE, ToIFREERu
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(EAQ FIEZetkigE ]

TV T/ ARSI B Aok RS B T oS0
BirRigr @K T0 (s, o) R RER
m(St+1) = argmax Q(se+1,a)
1TREBSURR T Q (s, ) Be-TaIL ok
Q-F3] BIrREAILAE{ L /9
Ter1 +VYQ(St41, Aty1) = Tea1 + YQ(Sp41, argmax Q(Se41, Agr1))

Atyq

= Tt41 + Y Max Q(S¢41, A1)
At+1

Q-FIEFHH

Q(spyap) « Q(spyar) + a(ryr + Yy max Q(St+1, A1) — Q(sp ar))

Atyq
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Q FIH=HFEE

K32 [Bhr

A&\iﬁ%w—w&s'

® O O TS, HITENFargmaxQ(s’,a)

I R&s, AT Ea

Q(se ar) « Q(s, ap) + a(reyq + ¥ max Q(se41, Arr1) — Q(St, ar))

Atyq

TR Q-ZIiEFlK S EIRIUIAS- T EERE
Q(s,a) - Q*(s,a)
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Q FIH=HFEE

WSs, W7o Ea
I S ZE2Z R

ﬁ%\iﬁ%ﬂ?—%ﬁ%ﬁs’

® O O TS, HITENFargmaxQ(s’,a)

Q(spyap) « Q(spar) + a(ry, + ]/rrgﬁlx Q(st41,a") —Q(s, ar))

T AAFEEERERKEE?
{ER T IRS-aHEREM AR ERNEEREL
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Q FIIRIUTENIE

4gEF (contraction operator)

0 Q(s,a) =7(s,a) +y max Q(s',a’)

OEMX HEF: HQ=71(s,a) +YEy (sl max Q(s’,a’)]

O &IUERE 0 B H IAEIR, BWE: Q" =HQ"

Melo, Francisco S. "Convergence of Q-learning: A simple proof." /nstitute Of Systems
and Robotics, Tech. Rep (2001): 1-4.
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Q FIIRINTELTE

0 B QRAZUIERR

(Hg)(z,a) = ) Pa(@,y)[r(z,0,y) +ymaxq(y, b)]

IHgy — Hgal|

rrmlzzx yEZX (2 y)[ (a:,a,y)+’yrgl€aj<m(y, ) 7‘(37,@79)4'7%16%3‘((12(% )]

= max7y ;{ Pa(z,y)[max g (y, b) — maxg>(y, )]
Yy

< maxy ) Pa(z,y) ‘rglea} ¢1(y,b) — maxgs(y, b)

be A
yeXx
< maxy Y Pa(@,y) max|a(2,) - 42(2,D)
yekX
= max-y Z Pa(m,y) “Ch _ q2||oo
T e ||Hq1 - HQZHOO S Y HQI o q2||oo
=7lq1 — @2l

i " i e A e FIESBIEFSI-Q learning WIETHEIFRR ;
Melo]é ..Fr/anc!sco SO.f(;onvergencs gf[? Igarnrmg/.)ARsmgIgm i https://hrl.boyuai.com/chapter/1/%E6%97%B6%ES%BA%SF%ES 21
proot." Institute Of Systems and Robotics, Tech. Rep (2001): 1-4. 0%B7%AE%E5%88%86%E 7%AE%I7%EY%B3%95
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SARSAS5QEIJXILLCEE

0 2E8SE (Cliff-walking)
* JoirHIR9E
- FERIAIES
- PR = -1
- BABEXESFE-100L
IS S seX EIFF ALk

O MMHASBERER?

SARSA
R=-1 safe path
-
a optimal path
S The Cliff G

Sarsa
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[o] jpia :

s)SH% (DP) HIRJEFEES (TD) MXFR

SeEREUERE(DP) KR EUERE(TD)
VT(s) « s s,a
KA BT a i
/RS ) ’
H 75—*35 VT(s") « s’ s',al
V7(s) IECHIRRS TS FMEEDFS
Q™(s,a) « s,a S, a
RS- E(ER : i
RI/REHA 3 ’
thj_%EE Q™ (s',a) «s',a sha
Q" (s,a) Q — REZIEA SARSA
Q*(s,a) « s,a s,a
RS- EER r ]~
HHIRSE ¢ s
=UEE | SN va
Q*(S,a) Q'(s’,a) «s',a

Q — INMEIER

Q - %3 .



[OlE: e (DP) MIlFEES (TD) BIXFR

FTERAEEDP) KR AIEHE(TD)
ISR SRS S R FEDFS]
V(s) « E[r +yV(s")ls] V(s) T +yV(s')
Q — BRI SARSA
Q(s,a) « E[r +yQ(s',a)ls, a] Q(s,a) 1t yQ(s',a)
Q — IMEER Q — 3
Q(s,a) « E [r + y max Q(s',a") |s, a] Q(s,a) T4 y max Q(s',a’)

Hrp x£y5x<—x+a(y—x)
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bli: SIFRiZHhEXBFEERDE

i FighiA

V(St) <= V(S¢) +a(Gy — V(Sy))

Gt = Rip1 + YR, + v Rigs + ...+ 7 Ry

V(Si) < V(Se) + a(Rig1 + 7V (Si41) — V(Sh))

___________________________
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; |-stepTD !
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Reinforcement Learning: An Introduction
Richard S.Sutton and Andrew G.Barto

3-step TD
Q
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oo-step TD
and Monte Carlo
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(o000

____________

V(St)
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ZERFED T

1-step TD
and TD(0)
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2-step TD
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O

O

_______________________________

Reinforcement Learning: An Introduction
Richard S.Sutton and Andrew G.Barto

oo-step TD
and Monte Carlo
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n £ RT3/

FERE T n ZRITRR, n=12,..,0

_ 1
n=1 (TD) Gt( )= Reyr + ¥V (Se41)
2
n=~2 Gt( ) = Riyr + YRy + V2V (Sts2)
— MC G =R,.i + YRy + - +yT-IR
n = oo ( ) t t+1 T VR4 )4 T

EW n B
G™ = Repy + VYReya + -+ V" Regn + V™V (Stan)
n HFES S
V(SD) « V(S) + a(G™ =V (Sy))
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n £ RT3/

0 EX n LRITEH

Gt(n) = Rey1 +YRe2 + -+ ¥ 'Ry + V™V (St4n)

O n ZRHFESFS

V(Sy) « V(S + a(GP —V(S)

33
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ZERFED LR

0.55

05} |

0.45

B 19 MASHIRE
WURFEmFF, £ .
101/ E&(episode)

ZHRITHIRMSIRE 35

0.3

Reinforcement Learning: An Introduction
Richard S.Sutton and Andrew G.Barto
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SE1Y n SR TTHEERD

BT LAA—EZIIAE n TR n ZRUHEREIRFEHE
BIan, > 2 2#0 3 RTINS R TTEIR 2-step

1 1
YA C) Ry sl €)
2 2

FHEEFRMARRIEZKAIER
A IR REBESTEANENRSKAEETE?

N =
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(ER¥EI n ZRiHREIR TD(A) &ik

TD(A), A — B3R

1D (1-step) 2-step 3-step n-step Monte Carlo
1-41
(1-21)A
(1 — )2 g)
1+/1+/12+---=L (1—nart .
!
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(BN n S 2i132HY TD(A) &Hik

TD(A), A — B2

A — BIHR 6! EETFBn
E R 6,
T GEFIE (1 - DA™

(1-n) A

Gt =0 -1 ) 116
n=1

(1-1) 27

g D)
22,1 =Dt =1 - V(Sy) « V(S + a(GL — B(S,))
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{EREYI n £ RiT32EAY TD(A) J/ik

weight given to
the 3-step return total area = 1
is (1 —\)A\?

decay by A

weight given to
actual, final return
iS AT—E,—]_

Time —
T—t—1

Gt == Y 6N+ TG,

n=1

HA1=10, 6! =G, BETEEREAE
MA=0/F, 6F=6", ELTRENFEESHE

39



TD(4) vs. n THRFEER

0.55

(episode) "
EERATEY T\

Offline 035 - I\
RMSIRE

03 F

025,

o5t f\

BILONAER ousl

0 ; : R ; 1

1O MASHIBBH L E SRS

O AEERREN o« 5 1B, B% 1 - RiRIEZEEHT—
ERYsCInER

40






2 Sarsa

n SHEEERREEAETEN_LE? Beilge
X FEAERTE Sarsa £, FA11BET n & Sarsa&%

1-step Sarsa

aka Sarsa(0)

Q(St, Ar)

Ry

CQ(St-}—l: AH—l)

!
[

|
I
1
I
I
1
I
I
1
I
I
1
I
I
1
I
I
1
I
I
1
I

__________________________________

2-step Sarsa 3-step Sarsa n-step Sarsa

] !
D S

! |
! !

I
[
T
[

__________________________________

\
1
I
1
1
1
I
1
I
1
1
1
I
1
I
1
1
1
I
1
I
1
1
1
I
1
I
1
1
1
I
1
I
1
1
1
I
1
I
1
1
1
I
I

~BEIEIXF

co-step Sarsa
aka Monte Carlo

T

|:|.._‘ e .._O._.._O

AR RS

n-step
Expected Sarsa

T

o—)+—eo—_)

il _E?
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2 Sarsa

0S5 n £TD, &(E:

Gitin = Rip1 +YRivo+ -+ 7" ' Riqn + 7" Qtpn—1 (Sttns Atin)

where,n > 1,0<t<T —n

Qt—l—n (Sta At) = Qt—l—n—l (Sta At) + « [Gt:t—l—n - Qt+n—1 (Sta At)]

where, 0 <t < T
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2 SarsafiifillF

Action values increased

Action values increased

Path taken by one-step Sarsa by 10-step Sarsa
— }
v
> ¥
G G G ¥
t ? A |e|e

Reinforcement Learning: An Introduction
Richard S.Sutton and Andrew G.Barto
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[l : RASEZERFNEZFS

ERZFIMIR T, FESERITRE:
. BRI T BRI HEMITRER— N EERE (BEUEE—T
PR )
b: FRWEREUER, BEERRIEN—1RE (FH e-greedy K3LH)

H W SR SRR SRR E— R,
MNFEINL—BUSIE (LMEREB) -

/! W(at|8t)
AV’ = b(at|8t)AV
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[l : RASEZERFNEZFS

EEEMERFIAEXEREHHES:

Eonr(f(s)) = [ p(s|m) f(s)ds = [ B2 p(s[b) f(5)ds = Eyns[ 22T f(5)]

Pr(Ag, Sps1, Atits s Sl Sty Apny ~ b) = T b( Ay | Sk)p(Sk+1]Sk, Ax)
P"“(At: St+1, At+1a ey Sh|8ta App ~ 7T) = HZ;QW(Ak‘Sk)p(SkH’Sk,Ak)

Giitan = Rig1 +YRiqo + ... + Y 1R + " Vit n—1(Siqn)

min(h,T—1) w(Ag|Sk)

' pr:n = L li=t b(Ak|Sk)

‘/t—l—’n, (St) = ‘/t—l—'n,—l (St) + APt t+n—1 [Gt:t—l—n - ‘/H—n—l (St)]
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(ERERERFNZS S BEHFIE

X FIREERREL V:

Vitn (St) = Vign—1(St) + aprtan—1 [Greon — Vien—1 (St)]

min(h,T—1) 7(Ag|Sk)

pr:h = [ Lp—y b(AL|Sk)
XTI FHERE Q:

Qt+n (Sl’:7 At) = Qt+n—1 (St; At) + Qpti1:tan [Gt:t—l—n - Qt+n—1 (St, At)]

o yymin(h,T—1) w(Ag|Sk)
Pt:h = L=t b(Ak|Sk)
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(ERERERFNZS S BEHFIE

Algorithm 1: #2kn P Sarsafiik

-

%)

10

11

12

13

14

16

Input: {FEIRZFEE R HEIZD, QAL HIRER, W

Output: fHiFHIQHEEL Q ~ q.
BIG1k;

for *-&/~episode do
fort=10.1,2,...do

if t < T then

Take A;, get (Ryi1. Sii1);
if S; A% LIRS then
‘ T+—t+1:

else

T+ t—n+1if 7 = 0 then
min{T+n—1,T—-1} w(A4;|5;) |
p 1L B(A;|S;)
min T+, 1) ,_ -1
G X R; ;

ifr4+n=T then
| G G H7"Q(Sr Ari)

S, Bk \,\EJQETT o AR I

RS-[S, A JRAE

Sarsa B AHEZR

HEEEERFER

& n ZBR

Q(S:, Ay) + Q(Sr, A) +ap|G —Q (S, AL

> ST Q BN
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ZEMEIAEE (N-step Tree Backup Algorithm)

AR AR ERERE XN EER?
QZFJFNHAEE Sarsa (expected Sarsa)

AT LUSXFE Y BRI n &2, FRZAZSENEMEZE.
LA n =3 AfF: 5. A,

m(alSi+1) ° o0

T (Apy1|Siq1) 7 (a'|Siq2)

/N

T (Agy1|Se41) T (Apy2|Seq2) ™ (a”|Si43) « s
the 3-stey
tree—lmckl?p

update




ZEMEIAEE (N-step Tree Backup Algorithm)

LAn =3 7=

m(alSi41)

T (Apg1[Seq1) 7 (@] Sey2)

T (At41|Se1) T (Aty2|Sit2) 7 (a”[St43)

® & ©
the 3-step
tree-backup
update
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ZETMEMRIEES

OXFn=1:
Griy1 = Rep1 +7 2,7 (alSi1) Q¢ (Siv1,a) RMI

O XFn=2: /Km

Grivr = Rip1+v ) 7(alSip1) Qier (Siy1,a)

Riio
Si+o
G#At—l—l

+ 7 (A41[St+1) (Rt+2 +7) 7 (alSir2) Qur1 (Siya, CL)) o 'fm

=Ri1+ Z m(alSii1) Qi (Sip1,a) +ym (Arp1|Sii1) Geaq.pprg  the 3step

tree-backup
aF A +1 update

O Fln:

Gutyn = Rig1+Y D ,za,,, T(alSi41) Qupn—1 (Sev1, @) 77 (A1 [Se1) Gegriesn

Qt—l—n (Sta At) — Qt—l—n—l (Sta At) e’ [Gt:t—l-n - Qt+n—l (Sta At)]
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